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ADDITION OR SUBTRACTION

3)  14 tens + 18 tens = ___ tens.

Solution:

2)  What is value of 62 tens?

Solution:

62 tens = 60 tens + __ tens.

= 30 tens + __ tens + 20 tens + __ tens.

= 10 tens + __ tens + 10 tens + __ tens.

10 tens = __ hundred.

= 30 tens + 20 tens + 4 tens + __ tens.

= ___ tens + 4 tens + 8 tens.

60 tens = __ hundreds.

= ___ tens + 4 tens + 6 tens + 2 tens.

= 20 tens + 2 tens + __ tens + 8 tens.

62 tens = __ hundreds + 2 tens.

= 50 tens + ___ tens + 2 tens.

= 20 tens + 2 tens + ___ tens.

= ____ + ___.

= ___ tens + 2 tens.

= ___ tens + __ tens.

= ____.

= ___ tens.

= ___ tens.

1)  34 tens + 28 tens = ___ tens.

Solution:

Addition according to their place values by using ones, tens and hundreds.


